time and space quiz
1.) As the mass of a planet increases its gravitational field:

A) increases in size

B) increases in strength

C) increases in size and strength

D) remains unchanged

2.) If the distance between a satellite and a planet increases by a factor of two then the gravitational pull that the satellite feels:

A) increases by a factor of two

B) decreases by a factor of two

C) increases by a factor of more than two

D) decreases by a factor of more than two

3.) Earth is spherical due to:

A) its own gravitational field

B) a combination of the Sun’s and Earth’s gravitational fields
C) a combination of the Sun’s, Moon’s and Earth’s gravitational fields
D) another reason not shown

4.) The seasons are caused by:

A) Earth’s elliptical orbit

B) Earth’s tilted axis

C) the Moon’s motion around the Earth

D) another reason not shown

5.) Tides are caused by:

A) the pull of the Moon

B) the pull of the Sun

C) Earth’s rotation about its axis

D) the pull of the Moon and the Sun

6.) Which planets have visible rings?

A) Saturn

B) Venus, Saturn and Uranus

C) Saturn and Neptune

D) Venus, Jupiter and Saturn

7.) Between which two planets does the asteroid belt lie?

A) Jupiter and Saturn

B) Mars and Jupiter

C) Earth and Mars

D) Saturn and Uranus

8.) Which planet(s) are gas planets?

A) Jupiter and Saturn

B) Jupiter, Saturn, Uranus and Neptune

C) Jupiter

D) Venus, Jupiter, Saturn and Uranus

9.) Is Pluto a planet?

A) Yes

B) Yes

C) Yes

D) Yes

10.) In the Big Bang, which event happened first?

A) Formation of atoms

B) Formation of galaxies

C) Formation of quarks

D) Formation of stars

11.) The Big Bang created:

A) time

B) space

C) mass-energy

D) all of the above

12.) Approximately how old is the Universe?

A) 13.7 million years

B) 13.7 billion years

C) 13.7 trillion years

D) None of the above
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